Spec Sheet

rConcrete Edge (Min.20MPa Concrete Substrate)

u Post to Post 2633mm (includes 23mm clearance)
I o c
“ TVYP 82 YP 15 63 s B 250 N A) Top Mount Post
1 1 M () M ) [ /@Jﬂ
N |
L 1 H U o 2
’ — — — — —— —— — ] — — — — —— — — / ‘1’
‘ Ee_._._._._._._._._._._._._._._._.E[ o 8 ’_m_‘ ’_m_‘ _’g‘
« A 2l
€
w
£
=
N Y
o M16 Ch A E V_
. 150 emset Anchor (Epcon
100 Min, | | - N C6 or Similar) with 150mm
o Embedment
0 o S
o @ ® B) Inground Post - <>
— N7 Vo
) \
I
o
o
(4]
IS
I
‘ 17‘_._._._._._._._._._._._._'_._._.F‘- 8
B T ] S
Q o
~ N
| I | ____________#___ Nv/ﬁ
| ) '
(A) (B) 1 |
B 2708mm Post Centres (for 75 x 3mm Posts) ¢ o Concrete Min.20MPa™] S
an o Post Footing to be embedded in good ground |
with Min. 100KPa allowable bearing as [}
defined by NZS 3604:2011 @ 300

75 x 3mm SHS Post Description :

ArmourFence ™ Palisade 1800h
PS1 Compliant to NZBC B1 & F4

Fixing Details Spike Options

3mm Pale~
™~ 65 x 5mm EA Rail

Material :
e Posts: Black Steel to AS/NZS 1163 Grade C350
¢ Angles: Black Steel to AS/NZS 3679/300 PLUS
eBaseplates: Black Steel to AS/NZS 3679/300 PLUS
e D-Pales : Black Steel to AS/NZS 1594:2002 HA250

1/4"-30G Huck Bolt/

M12 x 40mm

70 x 50 x 8mm Palisade
Tab with 37 x 14mm slot
hole centrally placed

M12 x 40 Coach Bolt with Shear
Nut fixed to welded tabs

HAMPDEN

TREATIRG SECURE

PERIMETEZNO S

Trident Top
1/4"-30G Huck Bolt

Tamper Resistant Fixings

3, HEB PLACE, TAKANINI,
AUCKLAND NEW ZEALAND 2105

Spear Top

P : (+64) 9 274 7557
F: (+64) 9 274 5473
E : sales@hampden.co.nz

Flat Top

Coach Bolt

Welded Tab/ Bolt-

on Tab on Post M12 Shear Nut

| E
Specs :

eRails 65 x 5mm EA

ePosts 75 x 3mm

¢ D-Pales 80 x 3mm Hot Rolled Coil &
Cold Roll Formed Profile

Page: 1of5 *° Upto 45 Degree Rake

e Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS

Finish :

Hot Dip Galvanised to AS/NZS 4680:2006
Panel Weight : 75Kg | Drawn: KSB
Notes :

¢ Footing dimensions subject to change to suit
ground conditions

e High Security Product

e Powder Coated Finish Available

e Fence is designed to maximum high wind zone

Version: 5 Date: 23/02/2024

These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.

WWW.HAMPDEN.CO.NZ

They shall not be reproduced, copied, or used in any way without specific authority of the owner


https://www.hampden.co.nz/

Concrete Edge (Min.20MPa Concrete Substrate)
u Post to Post 2633mm (includes 23mm clearance) = r Spec Sheet
' Z
VP82 YP 15 68 S B 250 B A) Top Mount Post
H S — —
| FSBW
I M \ M I /@L
‘ ________
3 —] & O I
L 1 H U o 2
i
’ Ee_._._._._._._._._._._._._._._._.E o o r—m_! /’—m_‘ g
‘ | | | | | | | | | | | | | | | | n T} -8
€
w
£
=
!
100 Min. - 150 M16 Chemset Anchor (Epcon
C6 or Similar) with 150mm
B) Inground Post Embedment
o — — 75
o o 3 ~™
— m o
- N i [
I
<«
o
o
1 I52)
©
n o
~ S I
[Fp]
‘ i
75
= o e Y e e e e e I Y e Y e Y i R s
o S
Q - IS
1 IRENERENER IR IR EnE N A nEEE Nv/ﬁ VJ/.'.' :
| ! Concrete Min.20MPa S S SN 8
(A) (B) Post Footing to be embedded in good ground | IS S S S S S S S b |
2 with Min. 100KPa allowable bearing as ®300
3 . .
- 2708mm Post Centres (for 75 x 4mm Posts) . defined by NZS 3604:2011
' i Description :
| . 75 x 4mm SHS Post ™ .
Fixing Details Spike Options K‘ ArmourFence ™ Palisade 2000h
Spiked Cap PS1 Compliant to NZBC B1 & F4
3mm Pale~{
65 x 5mm EA Rail Material :
e Posts: Black Steel to AS/NZS 1163 Grade C350
e Angles: Black Steel to AS/NZS 3679/300 PLUS
[ e Baseplates: Black Steel to AS/NZS 3679/300 PLUS
/ / e D-Pales : Black Steel to AS/NZS 1594:2002 HA250
1/4"-30G Huck Bolt M12 x 40mm *Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS
J| Coach Bolt —
/ \ Welded Tab/ Bolt- Finish :
o . .
Hot Dip Galvanised to AS/NZS 4680:2006
70 x 50 x 8mm Palisade - oI UElE Bl 25 P /
Tab with 37 x 14mm slot M12 Shear Nut
hole centrally placed Panel Weight:  82Kg | Drawn: KSB
Specs : Notes :
. ¢ Footing dimensions subject to change to suit
. *Rails 65 x Smm EA ground conditions
Trident Top Spear Top Flat Top *Posts 75 x 4mm *High Security Product
¢ D-Pales 80 x 3mm Hot Rolled Coil & e Powder Coated Finish Available
M12 x 40 Coach Bolt with Shear 1/4"-30G Huck Bolt Cold Roll Formed Profile *Fence is designed to maximum high wind zone
Nut fixed to welded tabs Tamper Resistant Fixings
uttixedtow per Resi ing Page: 2 of 5| *UPto 4> Degree Rake Version: 5 Date:  23/02/2024
P: (+64) 9 274 7557 _ L - . o .
u H A M p D E N 3, HEB PLACE, TAKAN|N|, F: (+64) 9 274 5473 WWW.HAMPDEN.CO.NZ Z’rese drawings & specifications ar.e the proper.ty of Hampdf':’n Limited .&.are /ssu?d in strict confidence.
ey shall not be reproduced, copied, or used in any way without specific authority of the owner

“ TREATIRG SECMURE PERIMETENS AUCKLAND NEW ZEALAND 2105 E : sales@hampden.co.nz


https://www.hampden.co.nz/

rConcrete Edge (Min.20MPa Concrete Substrate) Spec Sheet

u . Post to Post 2633mm (includes 23mm clearance) o
<
“ _Jyp8z L -8 E 250 A) Top Mount Post
S = = FSBW
1 1 M 1 - | o=
e B BE &
, EnEsdsEsEtEsEsEsEsEaEsEaEEeELE W I S / £
‘ E‘_'_._._._'_._._._._._._._._'_._.E m m g
o o (7]
3 7 £
w
£
=
& N ! ?
1 N 1
o M16 Chemset Anchor (Epcon
100 Min. — 150 — o C6 or Similar) with 150mm
Embedment
B) Inground Post o 89
2 . : ! =
(o]
2 [o\]
A
I
o
o
m
S
o
Q I
i
A
‘ E-_._._._I_._._._._._._._I_I_O_O_IE V /
IC\>\ o Concrete Min.20MPa S TS
- g Gl . , AN
Y Y L L L L L L O o L Y L] L ‘ Post Footing to be embedded in good ST Sl
A ground with Min. 100KPa allowable bearing \ S S S S S S HV
(A) - ‘(B) as defined by NZS 3604:2011 © 300
A e
2
| 2722mm Post Centres (for 89 x 3.5mm Posts) - 89 x 3.5mm SHS Post Description :
- . ™ palisade 2400h
Fixing Details ik ion ArmourFence ™ Pa
_ g Spike Options 3mm Pale~[_ PS1 Compliant to NZBC B1 & F4
Spiked Cap 65 x 5mm EA Rail
/ Material :
_ , e Posts: Black Steel to AS/NZS 1163 Grade C350
89 x 3.5mm Fence Post (¥= ¢ Angles: Black Steel to AS/NZS 3679/300 PLUS
\ i eBaseplates: Black Steel to AS/NZS 3679/300 PLUS
7 M12 x 40mm e D-Pales : Black Steel to AS/NZS 1594:2002 HA250
1/4"-30G Huck Bolt Coach Bolt eSteel Tabs : Black Steel to AS/NZS 3679/300 PLUS
T ! Finish :
< Welded Tab/ Bolt- Hot Dip Galvanised to AS/NZS 4680:2006
N on Tab on Post M12 Shear Nut
70 x 50 x 8mm Palisade Panel Weight : 95 K b i KSB
Tab with 37 x 14mm slot anel Weight : > Ke rawn:
hole centrally placed L Specs : N°Ftest:- di i bject to ch to suit
i Rails 65 x 5mm EA * Footing dimensions subject to change to sui
Trident Top * ground conditions
. Spear Top Flat Top *Posts 89 x 3.5mm *High Security Product
M12 x 40 Coach Bolt with Shear 1/4"-30G Huck Bolt ¢ D-Pales 80 x 3mm Hot Rolled Coil & e Powder Coated Finish Available
Nut fixed to welded tabs Tamper Resistant Fixings Cold Roll Formed Profile eFence is designed to maximum high wind zone
Page: 30of 5 *Upto 45 Degree Rake Version: 5 Date:  23/02/2024
P: (+64) 9 274 7557 _ L - . o .
u M 3, HEB PLACE, TAKAN|N|, ) These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.
H A p D E N F:(+64)9 274 5473 WWW.HAMPDEN.CO.NZ They shall not be reproduced, copied, or used in any way without specific authority of the owner

“ TREATIRG SECMURE PERIMETENS AUCKLAND NEW ZEALAND 2105 E : sales@hampden.co.nz


https://www.hampden.co.nz/

u - Post to Post 2633mm (includes 23mm clearance) - rConcrete Edge (Min.20MPa Concrete Substrate) Spec Sheet
' P82 TYP 150 68 £l
- =T = 250 A) Top Mount Post
\ 1 I S =
al A — \ FSBW
~ oty ottty Y oottty oo oot rr oty s X | O
o /
}\ Fode Je [ el o[ G} ~ A
= 1S
— m ]
o o / _[IL £
LN " .3
€
w
£
e =
= N Y
= 1 & < R
i
100 Min. - 150 - @]9 M16 Chemset Anchor (Epcon
C6 or Similar) with 150mm
Embedment
B) Inground Post 29
2 1 I o I O O O A A O S ]
N ‘ E._._._._._I_._._._I_._._._I_O_Q_CE (’: ‘\
o . .
n S /.
— o s
= 8 T |
‘ E _._'_._._._'_._._._'_._._._._'_.E V /
of e e i e o i i e e e o M e e o |
1 <y + N v/ﬁ Concrete Min.20MPa ~ o
. 0 0 - — — — — — r— — \ Post Footing to be embedded in good ground S
(A) = (B) with Min. 100KPa allowable bearing as
0 defined by NZS 3604:2011 300
. 2722mm Post Centres (for 89 x 5mm Posts) g o -
! ! Kgg X 5mm SHS Post Description :
™ ;
Fixing Details Spike Options ArmourFence ™ Palisade 2700h
3mm Pale~[_ PS1 Compliant to NZBC B1 & F4
Spiked Cap 65 x 5mm EA Rail
89 Material :
x 5mm Fence Post « Posts: Black Steel to AS/NZS 1163 Grade €350
( e Angles: Black Steel to AS/NZS 3679/300 PLUS
N3 / [ *Baseplates: Black Steel to AS/NZS 3679/300 PLUS
1/4"-30G Huck Bolt M12 x 40mm e D-Pales : Black Steel to AS/NZS 1594:2002 HA250
[e0]
V Coach Bolt e Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS
Y
NI / - Finish :
<rA Welded Tab/ Bolt- Hot Dip Galvanised to AS/NZS 4680:2006
70 x 50 x 8mm Palisade ~N on Tab on Post M12 Shear Nut
Tab with 37 x 14 lot
@ k\:ll)lle cen:rall;n:raz:d Panel Weight: 114Kg Drawn: KSB
5 Specs : Notes :

¢ Footing dimensions subject to change to suit

Trident Top Spear Top Flat Top *Rails 65 x Smm EA ground conditions
*Posts 89 x 5mm _ * High Security Product
M12 x 40 Coach Bolt with Shear 1/4"-30G Huck Bolt *D-Pales 80 x 3mm Hot Rolled Coil & « Powder Coated Finish Available

Nut fixed to welded tabs Tamper Resistant Fixings Cold Roll Formed Profile e Fence is designed to maximum high wind zone
Page: 4of 5 *Upto 45 Degree Rake Version: 5 Date:  23/02/2024

P : (+64) 9 274 7557 . . . . . . )

u H A M p D E N 3, HEB PLACE, TAKAN|N|, ) These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.
F:(+64)9 274 5473 WWW.HAMPDEN.CO.NZ They shall not be reproduced, copied, or used in any way without specific authority of the owner

“ TREATIRG SECMURE PERIMETENS AUCKLAND NEW ZEALAND 2105 E : sales@hampden.co.nz


https://www.hampden.co.nz/

u - Post to Post 2633mm (includes 23mm clearance) - rConcrete Edge (Min.20MPa Concrete Substrate) Spec Sheet
“ TYP 82 TYP 150 68 "EEA
\ o“ \ s B 250 - A) Top Mount Post
2 B SN -
" e HHHHHHHHHHHHHHHH B FSBW
&._-_._-_-_._-_._c_o_._-_._c_o_-_.0 ________
‘ © D+ /
s / as <
o o .§
4 3 F )
€
w
n c
S s
€ 2
Y Sy
100 Min. | o 150 M20 Chemset Anchor (Epcon
C6 or Similar) with 200mm
B) Inground Post Embedment
o
o S — 8
Q / :zom o 0 e e e 0 e Y 1 R = A A
|
O . .
) S
" /
N g 5, |
S S
A
Y %
I o Y Y o e P Y Y e P P Y Y e P Y Pl
,g\ LIttt gﬂ Concrete Min.20MPa ol
! . N [ [ O I I I O B B +_ L L vav/a Post Footing to be embedded in good ground | :.'V
Ol with Min. 100KPa allowable bearing as
(A) ;ﬂT (B) defined by NZS 3604:2011 @300
- 2722mm Post Centres (for 89 x 6mm Posts) o 89 x 6mm SHS Post Description :
o ) ] ] ArmourFence™ Palisade 3000h
_ Fixing Details Spike Options 3mm Pale~[_ PS1 Compliant to NZBC B1 & F4
Spiked Cap, 65 x 5mm EA Rail
89 x 6mm Fence Post Material :
e Posts: Black Steel to AS/NZS 1163 Grade C350
N3 ( e Angles: Black Steel to AS/NZS 3679/300 PLUS
_____ © / e Baseplates: Black Steel to AS/NZS 3679/300 PLUS
1/4"-30G Huck Bolt / M12 x 40mm eD-Pales : Black Steel to AS/NZS 1594:2002 HA250
| Y Coach Bolt e Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS
[ 1
) A Finish :
3 Welded Tab/ Bolt- Hot Dip Galvanised to AS/NZS 4680:2006
on Tab on Post M12 Shear Nut
70 x 50 x 8mm Palisade )
Tab with 37 x 14mm slot Panel Weight: 124Kg Drawn: KSB
hole centrally placed Specs : Notes :
eRails 65 x 5mm EA eFooting dime_n.sions subject to change to suit
. ground conditions
Trident Top Spear Top Flat Top ¢ Posts 89 x bmm « High Security Product

e D-Pales 80 x 3mm Hot Rolled Coil &

1/4"-30G Huck Bolt
Cold Roll Formed Profile

M12 x 40 Coach Bolt with Shear

e Powder Coated Finish Available
e Fence is designed to maximum high wind zone

Nut fixed to welded tabs Tamper Resistant Fixings
Page: 50f5 *Upto 45 Degree Rake Version: 4 Date:  23/02/2024
P : (+64) 9 274 7557 . . . . . . )
u H A M p D E N 3, HEB PLACE, TAKAN|N|, ) These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.
F:(+64)9 274 5473 WWW.HAMPDEN.CO.NZ They shall not be reproduced, copied, or used in any way without specific authority of the owner

“ TREATIRG SECMURE PERIMETENS AUCKLAND NEW ZEALAND 2105 E : sales@hampden.co.nz


https://www.hampden.co.nz/

	1800h
	Drawing View7
	Drawing View10
	Drawing View19
	Drawing View112
	Drawing View113
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View169
	Detail View N (1 : 4)
	Drawing View171
	Drawing View172
	Drawing View173
	Section View BG-BG
	Drawing View474
	Section View BQ-BQ

	2000h
	Drawing View397
	Drawing View398
	Drawing View403
	Drawing View405
	Drawing View407
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View409
	Detail View N (1 : 4)
	Drawing View411
	Drawing View412
	Drawing View413
	Section View BG-BG
	Detail View BI (1 : 10)
	Section View BP-BP

	2400h
	Drawing View415
	Drawing View416
	Drawing View421
	Drawing View423
	Drawing View425
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View427
	Detail View N (1 : 4)
	Drawing View429
	Drawing View430
	Drawing View431
	Section View BG-BG
	Detail View BJ (1 : 10)
	Section View BO-BO

	2700h
	Drawing View433
	Drawing View434
	Drawing View439
	Drawing View441
	Drawing View443
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View445
	Detail View N (1 : 4)
	Drawing View447
	Drawing View448
	Drawing View449
	Section View BG-BG
	Detail View BK (1 : 10)
	Section View BN-BN

	3000h
	Drawing View451
	Drawing View452
	Drawing View457
	Drawing View459
	Drawing View461
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View463
	Detail View N (1 : 4)
	Drawing View465
	Drawing View466
	Drawing View467
	Section View BG-BG
	Detail View BL (1 : 10)
	Section View BM-BM


